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pseudo-wavelength

4519789321942643072 HermiteFunction[60] [Preceding,ROW7,Gate09,TwoD] [Preceding,ROW7,Gatell,TwoD]

[Preceding,ROW7,Gatell,TwoD]
[Preceding,ROW7,Gatell,TwoD]
e [Preceding,ROW3,Gatell,TwoD]
o [Preceding,ROWS5,Gatell,TwoD]

[Preceding,ROW6,Gate09,TwoD] [Preceding,ROW6,Gate09,TwoD]
[Preceding,ROW7,Gate09,TwoD] o [Preceding,ROW4,Gate09,TwoD]

e [Following,ROW2,Gate09,TwoD] o [Preceding,ROW3,Gatell,TwoD]

¢ [Following,ROW3,Gate09,TwoD]

o [Preceding,ROW2,Gate09,TwoD] o [Following,ROW1,Gate09,TwoD] ¢ [Following,ROW1,Gatell,TwoD]




